
T41-0300-10

T41-0200-10
T41-0100-05

T41-0500-04

T41-0400-04
T41-1000-00

SCALE:1:2 SHEET 1 OF 7 A3

ASSEMBLY NAME:

2024/03/27
DATE:

TAC-41 POLYMER SPORT

ASSEMBLY #:

T41-0000-PA A

B B

C C

D D

E E

F F

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



PIN 2X10 ISO8734-K
M6 DIN557

T41-0112

M6X16 ISO4762
T41-0111

T41-0109

T41-0113

M6 DIN557

SCALE:1:1 SHEET 2 OF 7 A3

ASSEMBLY NAME:

2024/03/27
DATE:

POLYMER RECEIVER

ASSEMBLY #:

T41-0100-05A A

B B

C C

D D

E E

F F

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



M5X8 ISO7380-2
SHIM M5X8X0.5
T41-0202
ORG 8X2
SHIM M8X12X0.5
M3X6 ISO4762
PLG 3X4X5 FT41-0203

T41-0224
T41-0253
T41-0225

T41-0251
M5 ISO4035

HOP-116001

M4 DIN557
T41-0252
M3 DIN557

T41-0204
M4X10 DIN7991

SRS-020008
SRS-020036

SCALE:3:5 SHEET 3 OF 7 A3

ASSEMBLY NAME:

2024/03/27
DATE:

510 MM BARREL SPORT

ASSEMBLY #:

T41-0200-10A A

B B

C C

D D

E E

F F

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



M6X30 ISO4762
T41-0318

PIN4X12 ISO8734

T41-0303
T41-0301

T41-0304
M4X6 ISO4762 PLG 5X6X7 F

T41-0324

T41-0323

T41-0319
SPR-3XXX

SRS-070004

T41-0322
ORG 23X1

SRS-070003
SRS-070002
T41-0308

M8 ISO4032
T41-0311

PIN4X6 ISO8734-K

PIN4X6 ISO8734-K

SCALE:1:1 SHEET 4 OF 7 A3

ASSEMBLY NAME:

2024/03/27
DATE:

ALUMINIUM BOLT

ASSEMBLY #:

T41-0300-10A A

B B

C C

D D

E E

F F

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



T41-0503

PIN4X12 ISO8734
BRG 4X10X4

M3.2 DIN6799

T41-0501
T41-0508

BRG 4X10X4

T41-0504
M3X16 ISO4762

T41-0509

T41-0505

ORG 4X2

T41-0502
M4X8 ISO4762

T41-0507
T41-0506

M4 ISO4032
PLG 5X6X7 F

T41-0509
M3X16 ISO4762

T41-0504

ORG 4X2

SCALE:3:2 SHEET 5 OF 7 A3

ASSEMBLY NAME:

2024/03/27
DATE:

TRIGGER BOX

ASSEMBLY #:

T41-0500-04A A

B B

C C

D D

E E

F F

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



M6X50 ISO4762
T41-0407

T41-0405
T41-0406

T41-0416

T41-0404
M6X50 ISO4015

T41-0802
T41-0801
T41-0411

T41-0409
T41-0402

M6X16 ISO4762

T41-0410
M6 ISO4032

T41-0417

T41-0404

T41-0403
M5X12 ISO4762

T41-0412

T41-0705

PIN4X12 ISO8734-K

T41-0706
T41-0707

T41-0701
M6X20 IDIN7991

T41-0703
T41-0702

PIN4X30 ISO8734-K

M6X20 DIN7991
M6 ISO4032

T41-0408
M6X20 DIN7991

M5X12 ISO4762
T41-0403

SCALE:2:5 SHEET 6 OF 7 A3

ASSEMBLY NAME:

2024/03/26
DATE:

POLYMER STOCK

ASSEMBLY #:

T41-0400-04A A

B B

C C

D D

E E

F F

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



T41-1005

T41-1004

T41-1008
T41-1003

M6X16 ISO4762
T41-1001

T41-1002

T41-1009
T41-1006
T41-1007

M6 ISO4032

SCALE:3:2 SHEET 7 OF 7 A3

ASSEMBLY NAME:

2023/10/06
DATE:

SHORT MAGAZINE

ASSEMBLY #:

T41-1000-00A A

B B

C C

D D

E E

F F

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1


	TAC-41 PS
	Vue de mise en plan1

	T41-0100-05
	Vue de mise en plan23

	T41-0200-10
	Vue de mise en plan24

	T41-0300-10
	Vue de mise en plan25

	T41-0500-04
	Vue de mise en plan26

	T41-0400-04
	Vue de mise en plan22

	T41-1000-00
	Vue de mise en plan8


